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MICRO ECONOMICS AND

INDIAN ECONOMY

Paper–I

Semester–I

Time Allowed : 3 Hours] [Maximum Marks : 75

Note : The candidates are required to attempt two

questions each from Sections A and B carrying

12 marks each and the entire Section C

consisting of 9 short answer type questions

carrying 3 marks each.

TCS

SECTION—A

1. Critically examine the Scarcity definition of

Economics. 12

2. What is an Indifference curve ? Discuss

Consumer equilibrium with the help of Indifference

curves. 12

3. What is Production Function ? Explain the Law

of Returns to scale with the help of tables and

diagrams. 12

4. What do you mean by Cost function ? Discuss the

Traditional theory of Cost both in short run and

long run. 12

SECTION—B

5. Discuss the features of Indian Economy on the

eve of independence. 12
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6. What do you mean by Land reforms ? Discuss the

main Land reforms in India. 15

7. What are Public Enterprises ? Discuss the role of

Public sector in the Industrial development of

Indian Economy. 12

8. Discuss the main features of New Industrial

Policy 1991 A.D. 12

SECTION—C

9. Write short notes on the following : 9×3=27

(i) Discuss the nature of Economics.

(ii) What is Law of Demand ?

(iii) Define Price elasticity of Demand.

(iv) What do you mean by Consumer surplus ?

(v) Discuss the relationship between AR, MR

and Price elasticity of demand.

(vi) What is Green Revolution ?

(vii) Distinguish between Small Scale and Large

Scale Industries.

(viii) What is meant by Liberalization ?

(ix) Discuss the role of Private Sector.
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PUNJABI VERSION

notnotnotnotnot ::::: Bwg A Aqy B hryk ivcoN do-dodo-dodo-dodo-dodo-do pRSn kro Aqy hryk

pRSn dy 12 AMk hn[ Bwg C swrw kro[ ies ivc

9 sMKyp au~qr vwly pRSn lwjmI hn Aqy hryk pRSn

dy 3 AMk hn[

BwgBwgBwgBwgBwg—A

1. ArQSwsqr dI durl`Bqw sMbMDI pRIBwSw dI Alocnwqmk

ivAwiKAw kro[ 12

2. audwsIn vrk qoN kI Bwv hY? audwsIn vkr dI shwieqw

nwl aupBogqw dy sMquln dI ivAwiKAw kro[ 12

3. auqpwdn Pln qoN kI Bwv hY? pYmwny dy pRqIPl dy

inXm dI swrxIAW Aqy vkrW dI shwieqw nwl

ivAwiKAw kro[ 12

4. lwgq Pln qoN kI Bwv hY? lwgq dy pRMprwvwdI isDWq

dI iv`c QoVy Aqy lMby smyN iv`c ivAwiKAw kro[   12

BwgBwgBwgBwgBwg—B

5. suqMqrqw pRwpqI dy smyN BwrqI ArQivvsQw dIAW

ivSySqwvW d`so[ 12

6. BUmI suDwrW qoN kI Bwv hY? Bwrq iv`c hoey BUmI suDwrW dw

vrxn kro[ 12

7. srvjnk audXogW qoN kI Bwv hY? Bwrq dy audXoigk

ivkws iv`c srvjnk Kyqr dI BUimkw qy crcw

kro[ 12

8. 1991 eI. dI nvI audXoigk nIqI dIAW ivSySqwvW

d`so[ 12

BwgBwgBwgBwgBwg—C

9. hyT iliKAW 'qy sMKyp not ilKo : 9×3=27

(i) ArQSwsqr dy suBwA dI ivAwiKAw kro[

(ii) mMg dw inXm kI hY?
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(iii) mMg dI kImq loc nUM pRIBwivq kro[

(iv) aupBogI dI bcq qoN kI Bwv hY?

(v) AOsq Awmdn, sImWq Awmdn Aqy mMg dI

kImq lck dy sMbMDW dI ivAwiKAw kro[

(vi) rhw ienklwb kI hY?

(vii) Coty Aqy v`fy audXogW iv`c AMqr sp`St kro[

(viii) audwrIkrn qoN kI Bwv hY?

(ix) in`jI Kyqr dI BUimkw qy crcw kro[


